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1. Background
In the RAN2#70 meeting，it was agreed that already in Rel89 it is possible to change the target cell by the target eNB, we will keep this mechanism in Rel-10 for the Pcell[1]. And in the last RAN3 meeting, it was also confirmed that the current specifications do not forbid the target eNB to select another target cell [2]. This means that during a handover preparation procedure, the target eNB can choose either the cell indicated by the Target Cell ID IE of the handover request message or another cell as the target cell. Therefore, the handover procedures can be divided into the following two cases:
· Suggested target cell accepted: During a handover procedure, the target eNB chooses the cell suggested by the source eNB as the target cell;

· Suggested target cell rejected: During a handover procedure, a cell other than the source eNB suggested is selected as the target cell by the target eNB.
However, the current MRO mechanism is based on the assumption that the target eNB always chooses the cell source eNB suggested as the target cell, and may make wrong judgment in the suggested target cell rejected cases. This paper provides an initial analysis on the issue.  
2. Problems of suggested target cell rejected case
In this section, two scenarios are discussed to illustrate the problems of the current MRO mechanism.
2.1. Scenario 1
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Figure 1 network topology
As illustrated in Figure 1, eNB A and eNB B are neighbors.  eNB B has three cells and the cell B1 and B2 cover the same area with different frequencies. The UE connects to the cell A1 before the handover. 
As the UE moves to the coverage boundary between the eNB A and eNB B, eNB A initiates an X2 handover preparation procedure towards the eNB B. In the HO Request message, cell B1 is set as the Target Cell and cell B2 is included in the AdditionalReestabInfoList IE. However, eNB B chooses the cell B2 as the final target cell since cell B1 is overloaded. Unfortunately, the handover from cell A1 to B2 fails and the UE attempts to           re-establish the RRC connection towards the cell B3. Upon receiving the RLF indication message from the eNB B, eNB A analyses the cause of the HOF.
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Figure 2 failure UE re-establish to a third cell
In the current MRO mechanism, the cause of the above HOF can be deduced as handover to wrong cell, i.e. the eNB A should have selected the cell B3 rather than the cell B2 as the target cell. Therefore, eNB A may improve its handover threshold to cell B2 and decrease the threshold to cell B3 to make UEs handover to cell B3 instead of cell B2. However, the failed handover is triggered by measurement result of cell B1 not cell B2, the adjustment is improper. .
2.2. Scenario 2
Scenario2 is similar with scenario2. The difference is that the UE re-establishes RRC connection towards the cell B1, i.e. the source eNB suggested target cell in the HO request message, after the failure handover to cell B2.
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Figure 3 failure UE re-establish to the source eNB suggested target cell
In the current MRO mechanism, the cause of the above HOF can be deduced as handover to wrong cell, i.e. the eNB A should have selected the cell B1 rather than the cell B2 as the target cell. However, cell B1 is just the target cell eNB A suggested. The failure is caused by eNB B rather than by handover trigger setting in eNB A, thus the MRO mechanism gives wrong direction.
According to the above analysis, we propose:

Proposal: RAN3 to confirm that the current MRO mechanism may make wrong judgment in the suggested target cell rejected cases and discuss how to handle it.
3. Conclusion

During a handover preparation procedure, the target eNB can choose a cell other than the cell indicated by the Target Cell ID IE of the handover request message as the target cell. The current MRO mechanism cannot handle this case and may make wrong judgment. Therefore, we propose:
Proposal: RAN3 to confirm that the current MRO mechanism may make wrong judgment in the suggested target cell rejected cases and discuss how to handle it.
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